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(=42 KE % ® es GR HDCP NET

&l XxH =EHE 40 41 81 11.0 70.0
EE 0NHF B 44 44 88 14.0 74.0
3 AIlE & 45 42 87 12.0 75.0
4 %ME A 42 42 84 9.0 75.0
5 & HREE 46 42 88 9.0 79.0
6 E % 48 39 87 1.0 80.0
1 H B¢ 51 52 103 15.0 88.0
8 £H W 56 44 100 10.0 90.0
9 HE EEH 56 50 106 12.0 94.0
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g sz K & = # GR HDCP NET

&% BN HB 47 46 93 27.0 66.0
#E HFL =T 49 47 96 28.0 68.0
3 T ERt 49 47 96 25.0 71.0
4 uE £E 49 43 92 20.0 72.0
5 kE EE 47 44 o1 18.0 73.0
6 BTE Hx 47 50 97 22.0 75.0
7 BE BT 46 51 97 19.0 78.0
8 EBF EX 49 46 95 16.0 79.0
9 #@E E1T 53 51 104 17.0 87.0
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